2024 & 28t)| REHM HCh

o1 s | = e Zetyy Zerao (mmw) | AEHE
1 5 202064141 |n=FSA(+22 30%2H) 453,000| zreznssn
2 5 202064207 |n==sB(+22 o 30%22) 1,359,000| ~zosszozoz
3 4 202164020 |n=&SB(=LE 2 30%28) 1,812,000
4 5 202164261 |R=FSA(+222 30%2H) 1,390,500 ZJimstnsstn
5 5 202164261 |pasanazs(sazol 7ne) 2,000,000| 2oin=stnsstn X
6 Ny PRI PSR 5 202264163 |Szmsm(a222l 4062 D) 302,000[ =T
7 agaeldE 5 202264170 |R=ZsA(>=L 29 30%2 ) 1,359,000 HE=sw
8 NI 2 202264192 |or=&&B(+=LE 2 50%28) 3,090,000 X
9 S NEHEI 5 202264196 |n=Zsic(+229 50%2 ) 1,158,800 922325
SotnsSEZ 5 202264198 |n==msB(+229 0uzte) 1.359,000| sszsxnsanne
FOlnEsdS 5 202264199 |m==sB(+ 22l 30%28) 679,500| mECISIIY
R URT= R A 5 202264200 |n==stB(+229 30%2 ) 1,359,000 &to|=S8tm
FOlnsEdE 5 202264201 |n=zsp(+222l 30%2e) 1,359,000| Agz=zozoz
FOtusdZ 5 202264202 |nXISB(+=LE 2 30%28) 1,359,000] ==E7X&
FOlnsEdE 5 202264205 |nXISB(+=LE 2 30%28) 679,500 asaxoiold
FOUNENS 5 202264207 |n=&sB(+L2 o 30%248H) 1,359,000]| neerenassomoz
FOtus&Z 5 202264210 |R=Z&B(+2 22 30%2H) 906,000| rzseozo
EXNEHEE 5 202264213 |Sgzsp(+222l 40%29) 1,510,000
EXNEHEE 5 202264214 |n=zsp(+222l 30%2e) 1,359,000] OIg=XI&
SExusdI 5 202264215 |n==sB(+2 2o 30%248) 1,359,000] Alggstoiziold
EXNEHEE 5 202264216 |REZ&B(+2 22 30%2H) 1,359,000] eea=zs=nsanns
EXNEHEE 5 202264217 |n=zsp(+222l 30%29) 1,359,000
EXNEHEE 5 202264218 |n=zsp(+222l 30%29) 1,359,000| &==Ss1
EXNEHEE 5 202264219 |n=Z&B(+2 22 30%2H) 1,359,000| zo=enassoeo
EXNEHEE 5 202264220 |n=zsp(+222l 30%29) 1,359,000
SEUEHS 5 202264221 |ot==tsta(s 2ol 30%28) 1,359,000| s#=28nssn X
SEI DNE=ME=FSE) 5 202264222 |sgzaaana(sggel smae) 1,887,500
SR PN FSE 5 202264226 |n==sB(+220 0% ) 1,359,000
AeXZuEdES 5 202264229 |szzsanNa szl sms) 2,265,000 Otx=CH&rw
A gusdE 5 202264230 |S2&s (=229 40%2H) 1,510,000 ==x=sSsw X
AeXZuUEES 5 202264233 |szasanNa szl sm2s) 2,265,000 Otx=0H&rw
HMNFELHDE S 5 202264234 |sSgzstc(+222l 30%2A8) 906,000 2AFAIH
Al88tu= 5 202264258 | ESA(+=AZRO] 30%2 ) 1,158,750| Jt+==Ssw
Al88tu= 5 202264258 |nmsznazs(segel Tn2e) 1,892,625| Jt+=x=Ssw X
Alesgu=s 5 202264259 |nEIEA(+L T2l 3062 D) 695,250 &==Sstn
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105 H2XSAGMT 4 202364139 |R=HSA(*=2 82| 30%2 D) 1,812,000] EHA=stw
106 MZASAGET 2 202364140 |R=FSA(S=SE2| 30%2 D) 1,812,000] &H==stw
107 M2 XSAGHT 3 202364141 |REFSA(S=SE2| 30%2 D) 1,812,000 &g=821
108 PSRNl = P 4 202364142 |n=AEA(SL 22l 30%20H) 1,812,000 z212&nsstn
109 PSRNl = P 4 202364143 |nHISA(+=HE 2 30%2 D) 1,812,000] =€1nsSsw
110 MZRSANEHS 4 202364144 |nx=sA(S= 22l 30%281) 1,812,000| g M=sn
111 AZ2ASTNHEEE 4 202364145 |n=zstA(+=222l 30%28) 1,812,000| so#ssstn
112 AZ2ASNHEEE 4 202364146 |n=zstA(2=2 2l 30%28) 1,812,000| & nsstn
113 A2 dStAEMT 4 202364147 |R=SEA(SL 22 30%22H) 1,812,000 24=8twW
114 AZ2ASTNHEEE 4 202364148 |n=zstA(2=22 2l 30%28) 1,812,000| &¢nsstn
115 PSRNl = P 4 202364149 |n=IEA(SL 22l 30%20H) 1,812,000 & =8t
116 A2 dStAEGNET 4 202364150 |S2Fs(+220 40%2H) 2,416,000 H&E =&
17 AZASNHEEE 4 202364151 |n=zstA(>=2ol 30%28) 1,812,000| se=mnas=n
118 A2 &SAENMT 4 202364152 |n=AEA(SL 22l 30%2 ) 1,812,000] 2nsst
19 A2 &SAENMT 4 202364154 |n=AEA(SL 22l 30%2 ) 1,812,000 =cl=8&tw
120 EXxNSHEI 4 202364155 |n=zsp(+22ol 30%28) 1,359,000| ~sisteioieiony
121 SELURES 4 202364156 |mx=sB(s22 30%28) 1,359, 000| reznsssozoy
122 A2 &SAENMT 4 202364157 |RXAEA(SL 22 30%22H) 1,812,000 2&=stw
123 S =S el S 3 202364165 |nHZSA(+=H22 30%22H) 1,359,000 ME&x=S&1
124 S =S el S 3 202364166 |Sg&s (=222 3092 H) 1,359,000] exci=tn v=ta=e
125 S =S el S 3 202364167 |Sezspxa(sagsl smel) 2,265,000[cFmen aavoesem
126 S =S el S 3 202364171 |Or=HEA(SL 22l 30%22H) 1,585,500

127 S =S el S 3 202364172 |sgasc(+222 30%22) 1,359,000| czzsAnss
128 AgpCEE 3 202364173 |nz&sA(=L 22 30%22) 1,812,000| @& 0S8
129 SIS 3 202364178 |n=&sA(+L 22 30%22) 1,359,000] e=sroi2oioi2en
130 AEMCES 3 202364184 |n=&sA(+L 22 30%22) 1,812,000 Zwsstw
131 SIS 3 202364185 |n=&sA(+L 22 30%22) 1,812,000| soussstn
132 |AZEYHRSES 3 202364189 |Sgzsic(+=g=ol 30%28) 1,390,500| =22 ofolotol
133 [AZEFHR=ENEB 3 202364190 |Or=HEA(SL 22l 30%2eH) 1,854,000

134 [AZEFAHR=EEB 3 202364191 |Or=HEA(SL 22l 30%20H) 1,390,500

135 dHUSHB 3 202364197 |agusnesz=(sag2l sone) 2,265,000 Z2=sw
136 SFOtn=sd3 3 202364199 |n=&sB(+2 22 30%22) 1,359,000

137 SFOtn=sd3 3 202364200 |n==sB(+2 22 30%22) 1,359,000] «usueoeo
138 SOtnsd3 3 202364201 |n==sB(+2 22 30%22) 1,812,000
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175 AISE LS 3 202364251 |REFSA(S=SE2| 30%2 D) 1,390,500| OHEtDSst

176 AISE LS 3 202364251 |pnszuzzs(+eaze ) 2,000,000| OHEtDSStD X
177 Alegu=s 3 202364252 |R=ESA(>=LBO 0% ) 1,390,500| e nS8 W

178 Al88tu= 3 202364252 |mnsznmza(sagel 7ok2e) 2,000,000| HEDS&EW X
179 Al88tn= 3 202364253 | SA(+=HE 2 30%2 D) 1,390,500 &Xlnsst

180 Al88tu= 3 202364253 |pasznazst(sagl 1n2e) 2,000,000 &X1S&W X
181 Al88tn= 3 202364254 |nHIZSA(+FE 2 30%2 D) 1,390,500 =€x=ss1

182 Al88tn= 3 202364254 |pasznazs(sagl 7o) 2,000,000 e&t=Ss&tW X
183 Al88tn= 3 202364255 |n=AEA(SL 22l 30%20H) 1,390,500] #+#oixtnsstn

184 AlIBE LR 3 202364255 |nn=zuazacezel mze) 2,000,000| +#oixnssn X
185 Al88tu= 3 202364256 |nXAEA(SL 22l 30%20H) 1,390,500 OHEF=stwW

186 Al88tn= 3 202364256 |pasznazst(segsl 7o) 2,000,000| OHEr=sw X
187 Al88tu= 3 202364257 |n=AEA(SL 22l 30%20H) 1,390,500 E#E=x=ss1

188 Al8E L= 3 202364257 |pasznazs(sagsl 1) 2,000,000 2ExSs&tW X
189 A8t L= 3 202364258 |n=AEA(SL 22l 30%2 ) 1,390,500| s0Ha=stw

190 Al8E L= 3 202364258 |pasznazst(sagsl Tn2e) 2,000,000 S0 =s&tw X
191 Al8E L= 3 202364259 |nXAEA(SL 22l 30%2 ) 1,390,500 #4=1nssW

192 A8 L= 3 202364259 |pasznazst(sagsl Tn2e) 2,000,000 &=10Ss&tW X
193 A8t L= 3 202364260 |R=AEA(SL 22l 30%2 ) 1,390,500| #<¢=2nsstn

194 A8t L= 3 202364260 |pasznazst(sazsl 7n2el) 2,000,000| #2=gnsstn X
195 Al8E L= 3 202364261 |nXIZSA(+=H22 30%22H) 1,390,500] stZ2nsst

196 Al8E L= 3 202364261 |pasznazs(sagsl in2e) 2,000,000| stZnsS&tw X
197 Al8E L= 3 202364262 |t=HE(+=L2 2 50%2 ) 2,317,500 g =50 9/30~10/4
198 Al8EtN= 3 202364262 |pasznazst(sagsl 7o) 1,622,250 €Y =35t X
199 Alg8u=s 3 202364263 |n=&sA(+L 22l 30%22) 1,390,500 +&ocixtnsstn

200 Al8Etn= 3 202364263 |pasznazs(sassl 7o) 2,000,000 +=oxtnsstn X
201 Alg8u=s 3 202364264 |n=AEsA(>L 22l 30%22) 1,854,000| =s&=S81

202 Al8Etn= 3 202364264 |pasznazs(sassl i) 2,000,000 =&t=Ss&t X
203 Alg8u=s 3 202364265 |n=AsA(=L 22l 30%22) 1,390,500 LHII=S8& W

204 Al8Etn= 3 202364265 |pasanazs(sassl i) 2,000,000| LHII=Ss&tW X
205 Alg8u=s 3 202364266 |n=&sA(=L 22l 30%22) 1,390,500 MOS8

206 Al8Etn= 3 202364266 |pusznazs(sassl i) 2,000,000| MOt2S&W X
207 Alg8u=s 3 202364267 |nz&sA(=L 22l 30%22) 1,390,500 4

208 Al8Etn= 3 202364267 |pasznazs(sassl in2e) 2,000,000 =R X
209 Alg8u=s 3 202364268 |n=&sA(=L 22l 30%22) 1,390,500| erarzansstn

210 Al U= 3 202364268 |pasanazs(sassl Tn2e) 2,000,000| eerzsnsstn X




211 Alegu=s 3 202364269 |n=zstA(+=2 2l 30%2S) 1,390,500| oldsx=stn
212 Al88tu= 3 202364269 |nmsznazs(sage Tn2e) 2,000,000 oldszsstn
213 Al88tu= 3 202364270 |wHZSA(+=L 22l 30%28) 1,390,500 =& =8t
214 Al88tu= 3 202364270 |pasznazs(sagol 7o) 2,000,000 ==&
215 A Z2uNsdE 3 202364273 |nXEA(SL 22l 30%20H) 1,359,000 ME=Sst
216 AZ2ASANHEEE 3 202364275 |n=zsA(+=2 ol 30%2S) 1,812,000 ME =g
217 aAgaeldE 2 202464002 |nHZSA(+=HE2 30%2 D) 1,359,000 8dx=ss1
218 Adaeld3 2 202464005 [ot=Zsta(2=2 ol 30%28) 1,812,000

219 AgaeldE 2 202464006 |n=AEB(4+L2 2 30%20H) 1,359,000| ==gasoeo
220 Adaeld3 2 202464007 |n=ZstA(2=2 2l 30%28) 1,359,000| & =Sstn
221 aAgaeldE 2 202464008 |sez=pxa(sa29l smae) 2,265,000

222 Adaeld3 2 202464010 |n=zsp(+=¢22l 30%28) 1,812,000 gaoixnssn
223 AgaeldE 2 202464012 |SgESC(+222 30%2H) 1,359,000] I EE
224 S =S el S 2 202464018 |szz=pxa(sag9l sme) 3,020,000

225 AgpCEE 2 202464019 |n=&sA(+2 22 30%22) 1,359,000 @4tsSEw
226 Adaeld3 2 202464021 |n=ZsA(=2 2l 30%28) 1,812,000| soansstn
227 Adaeld3 2 202464023 |n=zsp(+=22 ol 30%28) 1,812,000] &ot=Sstw
228 S =S el S 2 202464024 |n=ISB(+=P22 30%22H) 1,812,000 &1 DS
229 S =S el S 2 202464025 |sezspNa(sag9l sme) 3,020,000

230 Adaeld3 2 202464027 |n=zsp(+=22 ol 30%28) 1,812,000 S@10nsstn
231 Adaeld3 2 202464028 |n=ZsA(2= 22l 30%28) 1,812,000| stors=Sstn
232 S =S el S 2 202464029 |n=AEB(+L 22 30%2 ) 1,812,000] ze@zs=azasaa
233 S =S el S 2 202464033 |Ssezsrpxa(sag9l sme) 3,020,000

234 S =S el S 2 202464034 |sezspxa(sagol sme) 3,020,000

235 SIS 2 202464036 |n=&sB(+2 22 30%22) 1,812,000

236 AEMCES 2 202464038 |ot==stA(=2 22l 30%22) 1,359,000

237 S =R e S 2 202464039 |Sg&EC(+222 3092 H) 1,359,000] =lAgA
238 SIS 2 202464042 |n=&sB(+L 22 30%22) 1,812,000 Zwsstw
239 |AZEFHR=EEB 2 202464050 |RXAEB(+L22 30%2 ) 1,854,000 d¢nsstn
240 |AZEYHRSEZ 2 202464053 |n=zsp(+=2 2ol 30%2H) 1,854,000| & &tsSst
241 | AZEHR=ENEB 2 202464056 |nXAEB(4+L 22l 30%20H) 1,854,000] ¥ nsstu
242 | AZEQAHR=ENEB 2 202464060 |Sg&E (222 30%2H) 1,854,000] S HEH
243 =S NsHEI 2 202464065 [ot=ZsA(=Z ol 30%2B) 1,854,000

244 | +sm8mZ 2 | 202464067 [Sppie, T B ITEES 2,317,500| seennsan
245 FOtNENS 2 202464069 |n==sB(+AE 2l 30%28) 1,812,000] et=& oo™




246 FOlNE&ES 2 202464070 |n=zsp(+222l 30%2e) 1,812,000 rz3=soeoz
247 SQUUEXIB 2 202464071 |m==etp(+2 2ol %2 e) 1,812,000 weasouzaaos
248 (=Xl SmE=PSpe] 2 202464073 |n=FSB(+222 3092 H) 1,812,000] Ageaoieod
249 FOlNEEE 2 202464074 |R==sB(+L29 0% ) 1,812,000 #s=S80
250 FOtUNEdZ 2 202464075 |n=FSB(+222 3092 H) 1,812,000] otoizstoieiold
251 SFOtNsdES 2 202464076 |n=zsp(+=¢22l 30%28) 1,359,000| Aemzoizolz
252 FOtUNEAZ 2 202464077 |RHIZSA(+=HE 2 30%2 D) 1,359,000] Xolloiglold
253 SFOtnE&E3 2 202464078 |n=FSB(+222 3092 H) 1,359,000] #&&xoieold
254 SOINSHESB 2 202464079 |R=&sB(=2 29l 3042 D) 1,359,000 “# =g mEe
255 S M= PN 2 202464080 |mx=sB(s20 30%28) 1,359,000| nane oo
256 SFOtnE&E3 2 202464081 |n=&sB(+222 30%2H) 1,359,000 ress0iold
257 ROINEAS 2 202464082 |mx=sB(s22 30%28) 1,359,000] nanzsizceoz
258 FOtUNEAZ 2 202464083 |n=ESB(+222 3092 H) 1,359,000

259 SFOtn=sd&3 2 202464084 |n=zsA(=222l 30%2 D) 1,812,000| stsoigloly
260 EXNSHEI 2 202464085 |n=ESB(+222 3092 H) 1,359,000] vzee=sunzasna
261 EXxNSHEI 2 202464086 |n=zsp(+=22ol 30%28) 1,359,000| HERXI&A
262 EXxNSHEI 2 202464087 |n=zsp(+=222l 30%28) 1,359,000| #i~Eo0ig01d
263 ENsEdE 2 202464088 |R==sB(+22o 30%2H) 1,359,000| &t<clstw
264 EXxNSEHEEI 2 202464089 |n=ESB(+222 3092 H) 1,359,000] resaoisceos
265 EXNSHEI 2 202464090 |n=ESB(+222 3062 H) 1,359,000] ==ooeze=zozoz
266 EXxNSEHEEI 2 202464091 |n=zsp(+=g2ol 30%28) 1,359,000

267 EXxNSHEI 2 202464092 |nXAEB(4+L 22l 30%22H) 1,359,000] ee=zuu=usasea
268 ELNEHZ 2 202464094 |n=ISB(+=P22 30%22H) 1,359,000| #eweloziold
269 ISEI DN E=ME=FSE) 2 202464097 |Ssez=rpxa(saasl sme) 2,265,000

270 A ZNENS 2 202464098 |ot==sA(+€ 22l 30%28H) 1,359,000

271 A ZNENS 2 202464100 |ot==stA(+ 22l 30%28) 1,359,000

272 A ZNENS 2 202464103 |R==sB(+L 22 30%28) 1,359,000] OHEteletsAI#
273 A ZNENS 2 202464104 |SgREc(+€22 30%2 ) 1,359,000 =2 XZgg&
274 ISEDNE=IME=FSE) 2 202464106 |R==sB(+A 22 30%28) 1,359,000] =gsxoeod
275 ISEDNE=IME=FSE) 2 202464107 |R=HEA(SL 22l 30%20H) 1,359,000 dM=Sstn
276 MZASAEHE 2 202464111 |n=&EsA(+L 22 30%22) 1,812,000| 4l&t=Satw
277 MZASAEHE 2 202464112 |n=&EsA(>+L 22 30%22) 1,812,000 Ol DSst
278 MZASAEHE 2 202464113 |n=&EsA(+L 22 30%22) 1,812,000| 210550
279 A2 ASAENMT 2 202464114 |RXHSA(SL 22 30%20H) 1,812,000] ¢l8nsSstn
280 A2 ASAENMT 2 202464116 |RXHEA(SL 22l 30%20H) 1,812,000 &&¥1nsstu
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